WIN week 4 Day 1 – writing and graphing equations of lines
Students will graph equations of lines.
Warm up – 
1. Write the equation of a line in point slope form through (2,3) and (-4, 1). 





2. Convert you equation to slope intercept form.



3. Convert you equation to standard form.  


A. Graphing equations in slope intercept form.  Steps
1. Start at the y intercept.
2. “do” the slope - .
Examples
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Practice
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B. Graphing equations in point slope form.
Two options
· Convert to slope intercept form
· OR choose the starting point   and then “do” the slope
Examples:
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Practice:
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C. Graphing equations in standard form.
Two options:
· Convert to slope intercept form
· Find the x and  intercept.
Examples
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Practice:
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WIN Week 4 Day 2 
For each graph.  
1. Write the equation in point slope form.
2. Convert the equation to slope intercept form.  
3. Convert the equation to standard form.  
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Win review – writing and graphing equations of lines
1. A line has a slope of 1/3 and goes through the point (-4, 4).  
a. Write the equation of the line in point slope form.

b. Write the equation of the line in slope intercept form.


[image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif]
c. Write the equation of the line in standard form.

d. What is the x intercept for the line?




e. What is the y intercept for the line?


f. Graph the line.  

2. A line is shown. 
a. [image: Image result for linear graph]What is the slope of the line?

b. Write the equation of the line in point slope form.

c. Write the equation of the line in slope intercept form.


d. Write the equation of the line in standard form. 




e. What is the x intercept for the line?



f. What is the y intercept for the line?

3. Graph each line.  
a. 					e. 
[image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif][image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif]
b. 					f. 
[image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif][image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif]
c. 						g. 
[image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif][image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif]
d. 					h. 
[bookmark: _GoBack][image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif][image: http://etc.usf.edu/clipart/49300/49308/49308_graph_1010j_lg.gif]
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